
eBISOL EasyMount™ Accessories

In BISOL Group, we are aware of the fact that every project 
carries its own story, so it is crucial to be able to offer flexi-
bility and choice for every customer. We understand that at 
installation, losing a small component can happen, having 
the spare parts at your fingertips is much handier, and pro-
tecting your roof is a must. Take a look at the assortment of 
BISOL EasyMount™ Accessories, which will alter your install-
ing into an easier, faster and safer experience.

BISOL EasyMountTM Accessories Individual components

The  sunny  side of life!

Component ID Code Component description

1 SEK-3HA1_T ALU Hook top bracket

2 SEK-3HA1_B ALU Hook bottom base

3 SEK-CS_6 Slider clamp M6 HDPE

4 SEK-DIN127_8B Washer M8 spring, type B

5 SEK-DIN603_1030 Screw carriage M10 x 30

6 SEK-DIN913_8_16 Screw with flat point M8 x 16 A2 70

7 SEK-DIN912_8_25 Screw Inbus M8 x 25 A2-70 

8 SEK-DIN6923_8 Nut M8 flange A2-70

9 SEK-DIN933_10_25 Screw M10x25 A2-70 hexagon socket cap

10 SEK-EMC48 Connector for EasyMount™ 48 x 27 mm

11 SEK-EMCRL80 Connector for EasyMount™ ALU Rail 80

12 SEK-HDP1_200COIL Polypropylene coil for EasyMount™ HDPE base 200

13 SEK-EMS_D Spring for direct clamps

14 SEK-EPDMR_80 EPDM rubber insert, 3 mm, self-adhesive, roll of 20 m, width 80 mm

15 SEK-FSB_T1_P Plate for standing seam roof type 01

16 SEK-L_50_50_3 Profile L - 50 x 50 x 3 mm (l = 6000 mm)

17 EM-CLA.EA35B.2 Clamp end EasyMount™ Black 35 mm 
Direct, assembled

18 EM-CLA.EA40S.2 Clamp end EasyMount™ 40 mm Direct, assembled

19 EM-CLA.EA40B.2 Clamp end EasyMount™ Black 40 mm 
Direct, assembled

20 EM-CLA.MA35B.2 Clamp middle EasyMount™ Black 35 mm 
Direct, assembled

21 EM-CLA.MA40S.2 Clamp middle EasyMount™ 40 mm 
Direct, assembled

22 EM-CLA.MA40B.2 	 Clamp middle EasyMount™ Black 40 mm Direct, assembled

23 SEK-JA3_65_25 Self-tapping screw 6,5 x 25 mm JA3


